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Answer any 10 questions. Question No. 28 Is compulsory.
15. LetA=1{3,4,7,8}andB

16.
1%
18.
19.

cLass : 10| [ B

COMMON QUARTERLY EXAMINATION-2024-25
100 Hours| MATHEMAT'CS {Mas. Marks 108

PART |

() Answer all the guestions, T4 i=14
(i) Choose the most appropriate angwer from the given four alternatives and write fthe

option code and the corresponding answer.
I tia. 8) (6, 1)) represents an wdentity function, then the yvalue of a and b are reqpectivaly

a) (K. 6) bBY (K, &) l‘)f’?.’” diif 6)
Afunction/ R >R definedbyvAx) ¢, ¥Vxe R

a) one 1o one function  b) onto function ¢) constant function 4} identify funetion
LetA={1,2.3,4) and B~ {4, 8,9, 10}, A function f: A -» B given by

F=1(1,4), (2, 8),(3,9), (4, 10)} isa
a) Manv-one function b) Identty function ¢) One-to-one function d) Into function
Fuchid’s division lemma states that for positive integers a and b, there exist unique wilegers ¢ and ©

such that @ = bg + r, where r must satisfy,

a")lxrkb b)0>r>,b C)O'_:_r<b d)ﬁfrf-:
The sum of the exponents of the prime factors in the prime factorization of 1729 &
The next term of the sequence i' l, L’ _1_' ..... is
: 1 15’ 8> T8 ¥
H\EE )927 C)-3- )81
-3 Ty-7 . 9y 21y* 42y +21 My -2y +1)
3»-3 .7y z'7’ i a)Ty B et = C py V' -2r+1)
¥ 3y . -2 3y )
256.!8- 4,10 ' 16| x22* | g | 16‘ : ek
: i = b) 16 gyl o33
The square root of is 5 g eaual 1o &) SIS WL 9 STl P51

If a polynomial is a perfect square then it’s factors will be repeated
a) prime number b) odd number ¢) even number d) zero
The perimeters of two similar triangles AABC and APQR are 36 cm and 24 cm respectively.

If PQ = 10 cm, then the length of AB is
9

a)é—;—cm b)1—03igcrn c)66—§-cm d) 15 cm
The point of intersection of 3x —y =4 ahd{c +y=81is
2)(5,3) b)(2,4) ) (3,5) d) (4. 4)
The inclination of y axis and every line parallel to y axis is
a) 0° b) 30° c) 60° d) 90°
The equation of a line passing through the origin and perpendicular to theline Tx -3y +4=01s
a)Tx-3y+4=0 b)3x—7v+4==02 ‘c\lzx*—7¥=0 5 vgl\?t-‘--lv:-() :
If x = g tanf and y = b secO then a) _J_l____f_=1;b) L—X-—:l o) §7+‘-;‘=1 d) L_L=
¢ 4 ' " a B a & a b

a |
PART - 11
10x2=20

= {1,7, 10}. Which of the following sets are relations from A to B?

()R, = {3, 7), (4,7, (7,10), (8, 1)} (i) Ry={(3,1), (4, 12)} )

Represent the functionf= {(1,2),(2,2),(3,2),(4,3),(5, 4)} through (i) an arrow diagram (i) a table form
Iff(x)=x?-1,g(x)=x~2finda,ifgof(a) = 1.

If 13824 =2 x 3" then find a and b.

Determine the value of d such that 15 =3 (mod d).
: V/10/Mat/1
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Answer any 10 questions. Que
29. LetA={xeN|I<x<4},B

44.
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2 & Il ll)j

Find the sum ol 17+ 27+ ... i . ‘
Find the LCM of the given |\nl)‘|10|11|:1|!«‘ p'-3ptd p 4.
lif x+2 x'-x-6
Simplify; — = .
SRS 2y 12y’ _ . : ‘ :
he following quadratic equation 2¢* - 2¢ + 9 =0

Determine the nature
1IFAABC is similar to ADLEF such that BC

of roots ftort y
3em, EF = 4 cm and area of AABC 54 cm”.

Find the arca of ADEF. |
Show that the given points are collinear: (-3,-4), (7,2) and (12, 5).

Find the intercepts made by the line 4x
Prove the following identities. \[

If the straight lines 12y = —(p + 3)x + 12, 12x

~ 9y + 36 = 0 on the coordinate axes.

14800 . oo tand
1-sind
-~ Ty = 16 are perpendicular then find ‘P
PART - 111
10%5=50

stion No. 42 is compulsory.
= {.\‘EWI 0<x<2}andC={xeN|x< 3}. Then verify that

Ax(BNC)=(AxB)N(AXC)

b)

a)

b)

30. Let fbe a function f: N — N be defined by f(x)=3x+2,xeN
(i) Find the images of 1, 2, 3 (ii) Find the pre-images of 29, 53 (ii) Identify the type of function

31. Consider the functions f(x), g(x), h(x) as given below. Show that (fog)oh = fo(goh) in the case.
f(x)=x—4, gx)=x*and h(x)=3x—5

32 The sum of three consecutive terms that are in A.P. is 27 and their product is 288. Find the three terms.

33, Find the sum to n terms of the series 3 + 33 & 333 e to n terms. :

34 Find the G.P. in which the 2™ term is V6 and the 6™ term is 9V6.

35. Solve:x+2y—-z=35,; ¥ =y z==2; —Sx—4y+z=-11

36. The product of Kumaran’s age (in years) two years ago and his age four years from now is one more
than twice his present age. What is his present age? X '

37. IfJ3sin0 — cosd = 0, then show that tan30 = —3t—fll°;3—t§2%q

38 State and prove Angle bisector theorem. —

39 Find the area of the quadrilateral formed by the points (8, 6), (5, 11), (-5, 12) and (-4, 3).

40. Prove analytically that the line segment joining the mid-points of two sides of a triangle is parallel to
the third side and is equal to half of its length.

41. Find the equation of the median and altitude of AABC through A where the vertices are
A(6,2),B(-5,-1)and C(1,9). <. :

42. Find the square root of (2 + 5x + 6) (x* = 2x ~ 8) (2 -x—12).

: PART -1V ~
Answer all the questions. 6 2x8=16
43. a) Constructa triangle similar to a given triangle ABC with its sides equal to 3 of the corresponding

sides of the triangle ABC (scale factor = > 1). (OR)

Draw a triangle ABC of base BC = 8 e, A = 60° and the bisector of ZA meets BC at D such that

BD =6 cm. ‘
A company initially started with 40 workers to complete the work by 150 days. Later, it decided

to fasten up the work increasing the number of workers as shown below.
Number of workers (x) 40 50 60 75

Number of days (y) 150 120 100 80

(i) Graph the above data and identify the type of variation. ;
(i) From the graph, find the number of days required to complete the work if the co

~ decides to opt for 120 workers? i | P npany
(i) 1f the work has to be completed by 30 days, how many workers are required? (OR)
Graph the following linear function y = 5 X . Identify the constant of variation and verify it with

the graph. Also (i) find y when x = 9 (ii) find x when y=1.5.
V/10/Mat/2
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